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1-The central component of computer operating system is called  
kernel 
 

2-In the following cases non ¢ ‚¬ €œ preemptive scheduling occurs : 
When a process goes from the running state to the waiting state 
 

3-A ____ queue consists of all processes in the system 
job 
 

4-The following are examples of operation system EXCEPT  
dbase 
 

5-The strategy of making processes that are logically runnable to be 
temporarily suspended is called : 
Preemptive scheduling 
 

6-____ scheduler is another name for CPU scheduler. 
Short-term 
 

7-Round robin scheduling falls under the category of ___ 
Preemptive scheduling 
 

8- When a process creates a new process, there are ________ possibilities 
in terms of the address space of the new process. 
Two 
 

9- Which of the following is NOT part of the services offered by the 
Operating system in the area of system efficiency? 
Accounting 
 

10- A ready queue can be implemented as one of the following 
EXCEPT______. 
None of the above 


